

Borwein, D. and Shawyer, B. L. R.
1966 ©
Tôhoku Math. Journ., vol. 18, pp. 283-298

ON BOREL TYPE METHODS

BY

DAVID BORWEIN AND BRUCE LOCKHART ROBERTSON SHAWYER

Reprinted from the
Tôhoku Mathematical Journal
The Second Series, vol. 18, No. 3, pp. 283-298
September 1966

ON BOREL-TYPE METHODS

DAVID BORWEIN AND BRUCE LOCKHART ROBERTSON SHAWYER

(Received March 29, 1966)

The object of this paper is to examine Borel-type methods of summability, to define strong Borel-type methods and investigate their relations with ordinary and absolute Borel-type methods.

1. Introduction. Suppose throughout that $\sigma, a_n (n = 0, 1, \dots)$ are arbitrary complex numbers, that $\alpha > 0$, that β is real and that N is a positive integer greater than $-\beta/\alpha$. Let x be a real variable in the range $[0, \infty)$: in all limits and order relationship involving x , it is to be understood that $x \rightarrow \infty$.

$$\text{Define } s_n = \sum_{\nu=0}^n a_\nu, \quad s_{-1} = 0, \quad \sigma_N = \sigma - s_{N-1}.$$

Borel-type sums are defined as follows:

$$s_{\alpha, \beta}(x) = \sum_{n=N}^{\infty} \frac{a_n x^{\alpha n + \beta - 1}}{\Gamma(\alpha n + \beta)}; \quad S_{\alpha, \beta}(x) = \sum_{n=N}^{\infty} \frac{s_n x^{\alpha n + \beta - 1}}{\Gamma(\alpha n + \beta)}.$$

It is known that the convergence of either series for all $x \geq 0$ implies the convergence, for all $x \geq 0$ of the other (See [1]).

Borel-type means are defined as follows:

$$A_{\alpha, \beta}(x) = \int_0^x e^{-t} a_{\alpha, \beta}(t) dt,$$

$$S_{\alpha, \beta}(x) = \alpha e^{-x} s_{\alpha, \beta}(x), \quad T_{\alpha, \beta}(x) = \alpha e^{-x} a_{\alpha, \beta}(x).$$

Borel-type methods are defined as follows:

1. Summability:

- (i) If $A_{\alpha, \beta}(x) \rightarrow \sigma_N$, we say that $s_n \rightarrow \sigma(B^{\beta}, \alpha, \beta)$.
- (ii) If $S_{\alpha, \beta}(x) \rightarrow \sigma$, we say that $s_n \rightarrow \sigma(B, \alpha, \beta)$.

2. Absolute Summability:

(i) If $A_{\alpha,\beta}(x) \rightarrow \sigma_N$ and $A_{\alpha,\beta}(x)$ is of bounded variation with respect to x in the range $[0, \infty)$ we say that $s_n \rightarrow \sigma$ $[B', \alpha, \beta]$.

(ii) If $S_{\alpha,\beta}(x) \rightarrow \sigma$ and $S_{\alpha,\beta}(x)$ is of bounded variation with respect to x in the range $[0, \infty)$, we say that $s_n \rightarrow \sigma$ $[B, \alpha, \beta]$.

3. Strong Summability:

(i) If

$$\int_0^x e^t |A_{\alpha,\beta-1}(t) - \sigma_N| dt = o(e^x),$$

we say that $s_n \rightarrow \sigma$ $[B', \alpha, \beta]$.

(ii) If

$$\int_0^x e^t |S_{\alpha,\beta-1}(t) - \sigma| dt = o(e^x),$$

we say that $s_n \rightarrow \sigma$ $[B, \alpha, \beta]$.

4. Boundedness:

- (i) If $A_{\alpha,\beta}(x) = O(1)$, we say that $s_n = O(1)$ (B', α, β) .
- (ii) If $S_{\alpha,\beta}(x) = O(1)$, we say that $s_n = O(1)$ (B, α, β) .

5. Strong Boundedness:

(i) If

$$\int_0^x e^t |A_{\alpha,\beta-1}(t) - \sigma_N| dt = O(e^x),$$

we say that $s_n = O(1)$ $[B', \alpha, \beta]$.

(ii) If

$$\int_0^x e^t |S_{\alpha,\beta-1}(t) - \sigma| dt = O(e^x),$$

we say that $s_n = O(1)$ $[B, \alpha, \beta]$.

The summability methods $(B, 1, 1)$ and $(B', 1, 1)$ are the Borel exponential and the Borel integral methods respectively as given in 'Divergent Series'. (See [3] p.182). The Borel-type summability methods (B, α, β) and (B', α, β) are due to Borwein (See [2]). The ideas of absolute summability are also due to Borel himself. (See [3] p.184).

We assume henceforth that the series defining $a_{\alpha,\beta}(x)$, $s_{\alpha,\beta}(x)$ are convergent

for all $x \geq 0$ and, since the choice of N is clearly immaterial, that $\alpha N + \beta \geq 2$; so that the functions

$$a_{\alpha,\beta-1}(x), a_{\alpha,\beta}(x), s_{\alpha,\beta-1}(x), s_{\alpha,\beta}(x)$$

are all continuous for $x \geq 0$. Also, we assume, without loss of generality, that

$$a_0 = a_1 = \dots = a_{N-1} = 0, \text{ so that } \sigma_N = \sigma.$$

Given a function, $f(x)$, continuous for $x \geq 0$ we write for $x \geq 0$,

$$f_0(x) = f(x); f_\delta(x) = \{\Gamma(\delta)\}^{-1} \int_0^x (x-t)^{\delta-1} f(t) dt \quad (\delta > 0).$$

This section ends with the statement of several known results which will be used throughout the paper:

I If $\gamma > 0$ and $f(x) = s_{\alpha,\beta}(x)$, then, for $x > 0$

$$f_\gamma(x) = s_{\alpha,\beta+\gamma}(x) = \sum_{n=N}^{\infty} \frac{s_n x^{\alpha n + \beta + \gamma - 1}}{\Gamma(\alpha n + \beta + \gamma)}.$$

II $a_{\alpha,\beta}(x) = s_{\alpha,\beta}(x) - s_{\alpha,\beta+\alpha}(x)$.

III $\int_0^x e^{-t} a_{\alpha,\beta}(t) dt$

$$= \{\Gamma(\alpha)\}^{-1} \int_0^x e^{-u} s_{\alpha,\beta}(u) du \int_{x-u}^{\infty} t^{\alpha-1} e^{-t} dt. \quad (\text{See [1]})$$

2. Preliminary Results. The following lemmas are required:

LEMMA 1.

(i) $\frac{d}{dx} A_{\alpha,\beta}(x) = e^{-x} a_{\alpha,\beta}(x),$

(ii) $\frac{d}{dx} S_{\alpha,\beta}(x) = \alpha e^{-x} \{s_{\alpha,\beta-1}(x) - s_{\alpha,\beta}(x)\},$

(iii) $\frac{d}{dx} T_{\alpha,\beta}(x) = \alpha e^{-x} \{a_{\alpha,\beta-1}(x) - a_{\alpha,\beta}(x)\},$

$$(iv) A_{\alpha, \beta-1}(x) = e^{-x} a_{\alpha, \beta}(x) + \int_0^x e^{-t} a_{\alpha, \beta}(t) dt = A_{\alpha, \beta}(x) + A_{\alpha, \beta}(x),$$

$$(v) S_{\alpha, \beta-1}(x) = \alpha e^{-x} s_{\alpha, \beta-1}(x) = S_{\alpha, \beta}(x) + S'_{\alpha, \beta}(x),$$

$$(iv) T_{\alpha, \beta-1}(x) = \alpha e^{-x} a_{\alpha, \beta-1}(x) = T_{\alpha, \beta}(x) + T'_{\alpha, \beta}(x).$$

The proofs are immediate.

LEMMA 2. If

$$\int_0^\infty |f(t)| dt < \infty$$

then

$$\int_0^x e^t |f(t)| dt = o(e^x).$$

PROOF. If

$$F(x) = \int_x^\infty |f(t)| dt$$

then

$$\int_0^x e^t |f(t)| dt = -F(0) + e^x F(x) - \int_0^x e^t F(t) dt = o(e^x).$$

LEMMA 3. If $f(x) \in BV_x[0, \infty)^*$ and $\int_0^\infty |\varphi(t)| dt < \infty$, then

$$w(x) = \int_0^x f(x-t)\varphi(t) dt \in BV_x[0, \infty).$$

PROOF. $w(x) = \int_{-\infty}^\infty f^*(x-t)\varphi^*(t) dt$

where

$$f^*(u) = \begin{cases} f(u) & (u \geq 0) \\ 0 & (u < 0) \end{cases}$$

$$\varphi^*(u) = \begin{cases} \varphi(u) & (u \geq 0) \\ 0 & (u < 0) \end{cases}$$

*From now on, by " $BV_x[0, \infty)$ " we mean "is of bounded variation with respect to x in the range $[0, \infty)$ ".

Then, for $0 < x_0 < x_1 < \dots < x_n$,

$$\begin{aligned} & \sum_{r=1}^n |w(x_r) - w(x_{r-1})| \\ & \leq \int_{-\infty}^\infty \left\{ \sum_{r=1}^n |f^*(x_r - t) - f^*(x_{r-1} - t)| \right\} |\varphi^*(t)| dt \\ & \leq V_0^\infty f \int_0^\infty |\varphi(t)| dt \end{aligned}$$

where $V_0^\infty f$ is the total variation of f in the range $[0, \infty)$. Hence, the result follows. This is a special case of the lemma in Tatchell [4].

LEMMA 4. Suppose that $f(x)$ is continuous for $x \geq 0$.

(i) Suppose that $\delta > 0$, then

$$e^{-x} f_\delta(x) \in BV_x[0, \infty) \text{ whenever } e^{-x} f(x) \in BV_x[0, \infty).$$

(ii) Suppose that $\delta > 0$, then

$$\int_0^x e^{-t} f_\delta(t) dt \in BV_x[0, \infty) \text{ whenever}$$

$$\int_0^x e^{-t} f(t) dt \in BV_x[0, \infty).$$

PROOF. Let $F(x) = \int_0^x e^{-t} f(t) dt$.

Then

$$\Gamma(\delta) e^{-x} f_\delta(x) = \int_0^x e^{-t} f(t) \varphi(x-t) dt$$

and

$$\Gamma(\delta) \int_0^x e^{-t} f_\delta(t) dt = \int_0^x F(t) \varphi(x-t) dt$$

where

$$\varphi(u) = u^{\delta-1} e^{-u}.$$

The result follows from lemma 3. Compare lemma 2 in Borwein [1].

LEMMA 5. If $\int_0^x |f(t)| dt = o(e^x)$,

then

$$\int_0^x |f_\delta(t)| dt = o(e^x) \text{ whenever } \delta > 0.$$

PROOF. Let $g(t) = |f(t)|$. Hence $g_\delta(t) \geq |f_\delta(t)|$. By lemma 2(a) in Borwein [1], it follows that if $g_1(x) = o(e^x)$, then $g_{1+\delta}(x) = o(e^x)$ and hence the result follows.

3. Theorems. This section is divided into two parts. The first contains theorems which give relations between methods of the same type: that is "B" methods or "B'" methods. The second contains theorems giving relations between the "B" and "B'" methods.

3.1 THEOREM 1.

- (i) If $s_n \rightarrow \sigma[B, \alpha, \beta]$ then $s_n \rightarrow \sigma(B, \alpha, \beta)$.
 (ii) If $s_n \rightarrow \sigma[B', \alpha, \beta]$ then $s_n \rightarrow \sigma(B', \alpha, \beta)$.

The proof is immediate from the definitions.

Each of the other theorems in this section can be stated in parts corresponding to the parts of theorem 1. We shall only state the part corresponding to (i) in each case; the proofs of the other parts are obtained by replacing " $S_{\alpha, \beta}(x)$ " by " $A_{\alpha, \beta}(x)$ " and " σ " by " σ_N " respectively.

THEOREM 2. If $s_n \rightarrow \sigma[B, \alpha, \beta]$ then $s_n \rightarrow \sigma[B, \alpha, \beta]$.

PROOF. We have $S_{\alpha, \beta}(x) - \sigma = o(1)$ and $\int_0^\infty |S_{\alpha, \beta}(t)| dt < \infty$.

Hence, in view of lemma 2, it follows that,

$$\begin{aligned} & \int_0^x e^t |S_{\alpha, \beta-1}(t) - \sigma| dt \\ &= \int_0^x e^t |S_{\alpha, \beta}(t) + S_{\alpha, \beta}(t) - \sigma| dt \\ &= \int_0^x e^t |S_{\alpha, \beta}(t) + o(1)| dt \\ &= o(e^x). \end{aligned}$$

This completes the proof of theorem 2.

THEOREM 3. If $s_n \rightarrow \sigma[B, \alpha, \beta]$ then $s_n \rightarrow \sigma(B, \alpha, \beta)$.

PROOF. We have $\int_0^x e^t |S_{\alpha, \beta-1}(t) - \sigma| dt = o(e^x)$.

Hence, it follows that,

$$\begin{aligned} |S_{\alpha, \beta}(x) - \sigma| &= e^{-x} |e^x S_{\alpha, \beta}(x) - e^x \sigma| \\ &= e^{-x} \left| \int_0^x e^t \{S_{\alpha, \beta}(t) + S_{\alpha, \beta}(t)\} dt - \sigma e^x \right| \\ &= e^{-x} \left| \int_0^x e^t \{S_{\alpha, \beta-1}(t) - \sigma\} dt - \sigma \right| \\ &\leq e^{-x} \int_0^x e^t |S_{\alpha, \beta-1}(t) - \sigma| dt + |\sigma| e^{-x} \\ &= o(1). \end{aligned}$$

This completes the proof of theorem 3.

THEOREM 4. If $s_n = O(1)[B, \alpha, \beta]$ then $s_n = O(1)(B, \alpha, \beta)$.

The proof is similar to that of theorem 3.

The following two results are immediate from the definitions:

THEOREM 5. If $s_n \rightarrow \sigma(B, \alpha, \beta)$ then $s_n \rightarrow \sigma[B, \alpha, \beta + 1]$.

THEOREM 6. If $s_n = O(1)(B, \alpha, \beta)$ then $s_n = O(1)[B, \alpha, \beta + 1]$.

Results giving relations between methods of the same type are:

THEOREM 7. If $s_n \rightarrow \sigma(B, \alpha, \beta)$ then $s_n \rightarrow \sigma(B, \alpha, \beta + \delta)$ ($\delta > 0$).

This is due to Borwein [2], result (II).

THEOREM 8. If $s_n = O(1)(B, \alpha, \beta)$ then $s_n = O(1)(B, \alpha, \beta + \delta)$ ($\delta > 0$).

This follows from analogues of lemmas 1 and 2 in [1] with $O(\cdot)$ instead of $o(\cdot)$.

THEOREM 9. If $s_n \rightarrow \sigma[B, \alpha, \beta]$ then $s_n \rightarrow \sigma[B, \alpha, \beta + \delta]$ ($\delta > 0$).

This follows from lemma 5.

THEOREM 10. If $s_n = O(1)[B, \alpha, \beta]$ then $s_n = O(1)[B, \alpha, \beta + \delta]$ ($\delta > 0$).

This follows from the analogue of lemma 5 with $O(\cdot)$ instead of $o(\cdot)$.

Finally, in this section, there are two theorems giving the exact relation between the strong and ordinary cases:

THEOREM 11. $s_n \rightarrow \sigma[B, \alpha, \beta]$ if and only if $s_n \rightarrow \sigma(B, \alpha, \beta)$ and

$$\int_0^x e^t |S_{\alpha, \beta}(t)| dt = o(e^x).$$

PROOF. We have that $S_{\alpha, \beta-1}(t) - \sigma = S_{\alpha, \beta}(t) - \sigma + S_{\alpha, \beta}'(t)$.

Whence

$$(a) \quad |S_{\alpha, \beta-1}(t) - \sigma| \leq |S_{\alpha, \beta}(t) - \sigma| + |S_{\alpha, \beta}'(t)|,$$

$$(b) \quad |S_{\alpha, \beta}'(t)| \leq |S_{\alpha, \beta}(t) - \sigma| + |S_{\alpha, \beta-1}(t) - \sigma|.$$

NECESSITY. Suppose that $s_n \rightarrow \sigma[B, \alpha, \beta]$. Then, it follows from theorem 3 that $s_n \rightarrow \sigma(B, \alpha, \beta)$. That is $S_{\alpha, \beta}(t) - \sigma = o(1)$ and, further

$$\int_0^x e^t |S_{\alpha, \beta}(t) - \sigma| dt = o(e^x),$$

Thus, using (b), it follows that

$$\int_0^x e^t |S_{\alpha, \beta}'(t)| dt = o(e^x).$$

SUFFICIENCY. Suppose on the contrary that $S_{\alpha, \beta}(t) - \sigma = o(1)$ and that

$$\int_0^x e^t |S_{\alpha, \beta}'(t)| dt = o(e^x).$$

Using (a), it follows at once that

$$\int_0^x e^t |S_{\alpha, \beta-1}(t) - \sigma| dt = o(e^x).$$

THEOREM 12. $s_n = O(1)[B, \alpha, \beta]$ if and only if $s_n = O(1)(B, \alpha, \beta)$ and

$$\int_0^x e^t |S_{\alpha, \beta}(t)| dt = O(e^x).$$

The proof is similar to that of theorem 11.

3.2. Theorems in this section are stated in full.

THEOREM 13. $s_n \rightarrow \sigma(B, \alpha, \beta)$ if and only if $a_n \rightarrow 0(B, \alpha, \beta)$ and

$s_n \rightarrow \sigma(B', \alpha, \beta)$.

This theorem is due to Borwein [2].

THEOREM 14. $s_n \rightarrow \sigma |B, \alpha, \beta|$ if and only if $a_n \rightarrow 0 |B, \alpha, \beta|$ and $s_n \rightarrow \sigma |B', \alpha, \beta|$.

PROOF. (i) NECESSITY. Suppose that $s_n \rightarrow \sigma |B, \alpha, \beta|$. Then we have that

$$S_{\alpha, \beta}(x) = \alpha e^{-x} s_{\alpha, \beta}(x) = \sigma + o(1) \tag{14.1}$$

$$S_{\alpha, \beta}(x) = \alpha e^{-x} s_{\alpha, \beta}(x) \in BV_x[0, \infty). \tag{14.2}$$

First, in view of theorem 13, and (14.1), we obtain that

$$s_n \rightarrow \sigma(B', \alpha, \beta) \text{ and } a_n \rightarrow 0(B, \alpha, \beta).$$

Further, in view of (14.2) and lemma 4(i), we have that, since $\alpha > 0$,

$$e^{-x} s_{\alpha, \beta+\alpha}(x) \in BV_x[0, \infty).$$

Hence

$$e^{-x} a_{\alpha, \beta}(x) = e^{-x} \{s_{\alpha, \beta}(x) - s_{\alpha, \beta+\alpha}(x)\} \in BV_x[0, \infty),$$

and so it follows that $a_n \rightarrow 0 |B, \alpha, \beta|$.

Also

$$A_{\alpha, \beta}(x) = \int_0^x e^t a_{\alpha, \beta}(t) dt = \int_0^x e^{-u} s_{\alpha, \beta}(u) \varphi(x-u) du,$$

where $\varphi(v) = \int_v^\infty t^{\alpha-1} e^{-t} dt$.

Since $\int_0^\infty \varphi(v) dv = \Gamma(\alpha+1) < \infty$, it follows from (14.2) and lemma 4(a) that

$A_{\alpha, \beta}(x) \in BV_x[0, \infty)$, and further that $s_n \rightarrow \sigma |B', \alpha, \beta|$.

(ii) SUFFICIENCY. Suppose that $s_n \rightarrow \sigma |B', \alpha, \beta|$ and $a_n \rightarrow 0 |B, \alpha, \beta|$. Then we have that

$$A_{\alpha, \beta}(x) = \int_n^x e^{-t} a_{\alpha, \beta}(t) dt = \sigma + o(1) \tag{14.4}$$

$$A_{\alpha, \beta}(x) = \int_0^x e^{-t} a_{\alpha, \beta}(t) dt \in BV_x[0, \infty) \tag{14.5}$$

$$T_{\alpha, \beta}(x) = \alpha e^{-x} a_{\alpha, \beta}(x) = o(1) \tag{14.6}$$

$$T_{\alpha, \beta}(x) = \alpha e^{-x} a_{\alpha, \beta}(x) \in BV_x[0, \infty). \tag{14.7}$$

First, in view of theorem 13, it follows from (14.4) and (14.6) that $s_n \rightarrow \sigma(B, \alpha, \beta)$. Further, using the notation in the second part of the proof of the theorem in [1], we obtain that

$$e^{-x}s_{\alpha, \beta+\delta}(x) = \int_0^x B(x-t)\varphi(t)dt$$

where (A) $\delta = k\alpha > 4$ where k is a positive integer,

(B) $\varphi(x) = \frac{d}{dx} \{e^{-x}f_{\delta-1}(x)\}$, where $f(x) = \sum_{n=0}^{\infty} \frac{x^{\delta n}}{\Gamma(\delta n + 1)}$, and satisfies

$$\int_0^{\infty} |\varphi(x)| dx < \infty,$$

(C) $B(x) = \int_0^{\infty} e^{-t} \{s_{\alpha, \beta}(t) - s_{\alpha, \beta+\delta}(t)\} dt.$

Now, from (14.5), we obtain that

$$\int_0^x e^{-t} \{s_{\alpha, \beta}(t) - s_{\alpha, \beta+\alpha}(t)\} dt \in BV_x[0, \infty),$$

and further, in view of lemma 4 (ii), that

$$\int_0^x e^{-t} \{s_{\alpha, \beta}(t) - s_{\alpha, \beta+\delta}(t)\} dt \in BV_x[0, \infty),$$

and hence it follows that $B(x-t)$ is of bounded variation with respect to x in the range $[t, \infty)$ uniformly for $t \geq 0$.

Hence, in view of lemma 3, it follows that

$$e^{-x}s_{\alpha, \beta+\delta}(x) \in BV_x[0, \infty).$$

Also, in view of (14.7) and lemma 4 (i), we obtain that

$$e^{-x} \{s_{\alpha, \beta}(x) - s_{\alpha, \beta+\delta}(x)\} \in BV_x[0, \infty)$$

since $\delta = k\alpha$, and so,

$$e^{-x}s_{\alpha, \beta}(x) \in BV_x[0, \infty).$$

Hence $s_n \rightarrow \sigma[B, \alpha, \beta]$.

This completes the proof of theorem 14.

THEOREM 15. $s_n \rightarrow \sigma[B, \alpha, \beta]$ if and only if $a_n \rightarrow 0[B, \alpha, \beta]$ and $s_n \rightarrow \sigma[B', \alpha, \beta]$.

PROOF. (i) **NECESSITY.** Suppose that $s_n \rightarrow \sigma[B, \alpha, \beta]$. By theorem 3 it follows that $s_n \rightarrow \sigma(B, \alpha, \beta)$, and so, by theorem 13, that $s_n \rightarrow \sigma(B', \alpha, \beta)$ and $a_n \rightarrow 0(B, \alpha, \beta)$. Further, from theorem 11, we have that

$$\int_0^x e^t |S_{\alpha, \beta}(t)| dt = o(e^x);$$

that is

$$\int_0^x |s_{\alpha, \beta}(t) - s_{\alpha, \beta-1}(t)| dt = o(e^x),$$

and further, in view of lemma 5, that

$$\int_0^x |s_{\alpha, \beta+\alpha}(t) - s_{\alpha, \beta+\alpha-1}(t)| dt = o(e^x).$$

Thus,

$$\begin{aligned} & \int_0^x |a_{\alpha, \beta}(t) - a_{\alpha, \beta-1}(t)| dt \\ & \leq \int_0^x |s_{\alpha, \beta}(t) - s_{\alpha, \beta-1}(t)| dt + \int_0^x |s_{\alpha, \beta+\alpha}(t) - s_{\alpha, \beta+\alpha-1}(t)| dt \\ & = o(e^x); \end{aligned}$$

that is

$$\int_0^x e^t |T_{\alpha, \beta}(t)| dt = o(e^x),$$

and so it follows that $a_n \rightarrow 0[B, \alpha, \beta]$.

This means that

$$\int_0^x e^t |T_{\alpha, \beta-1}(t)| dt = o(e^x),$$

and so, since

$$A_{\alpha, \beta}(t) = T_{\alpha, \beta}(t) = T_{\alpha, \beta-1}(t) - T_{\alpha, \beta}(t)$$

it follows that

$$\int_0^x e^t |A'_{\alpha, \beta}(t)| dt = o(e^x).$$

Thus, $s_n \rightarrow \sigma[B', \alpha, \beta]$.

(ii) SUFFICIENCY. Suppose that $s_n \rightarrow \sigma[B', \alpha, \beta]$ and $a_n \rightarrow 0[B, \alpha, \beta]$. By theorem 3 it follows that $s_n \rightarrow \sigma(B, \alpha, \beta)$ and $a_n \rightarrow 0(B, \alpha, \beta)$, and so, by theorem 13, that $s_n \rightarrow \sigma(B, \alpha, \beta)$ and further, from theorem 7, that $s_n \rightarrow \sigma(B, \alpha, \beta + \nu)$ whenever $\nu \geq 0$. Thus

$$s_{\alpha, \beta + \delta}(x) - s_{\alpha, \beta + \delta - 1}(x) = o(e^x) \quad (15.1)$$

where $\delta = k\alpha \geq 1$, k being a positive integer.

Further, from theorem 11, we obtain that

$$\int_0^x e^t |A'_{\alpha, \beta}(t)| dt = \int_0^x |a_{\alpha, \beta}(t)| dt = o(e^x)$$

and

$$\int_0^x e^t |T'_{\alpha, \beta}(t)| dt = \int_0^x \alpha |a_{\alpha, \beta}(t) - a_{\alpha, \beta - 1}(t)| dt = o(e^x)$$

whence

$$\int_0^x |a_{\alpha, \beta - 1}(t)| dt = o(e^x).$$

It follows from lemma 5, that

$$\int_0^x |s_{\alpha, \beta - 1}(t) - s_{\alpha, \beta + \delta - 1}(t)| dt = o(e^x)$$

and

$$\int_0^x |s_{\alpha, \beta}(t) - s_{\alpha, \beta + \delta}(t)| dt = o(e^x).$$

Thus, from these two results and (15.1) it follows that

$$\alpha \int_0^x |s_{\alpha, \beta}(t) - s_{\alpha, \beta - 1}(t)| dt = \int_0^x e^t |S'_{\alpha, \beta}(t)| dt = o(e^x)$$

and so, by theorem 11, we further have that $s_n \rightarrow \sigma[B, \alpha, \beta]$. This completes the proof of theorem 15.

THEOREM 16. $s_n \rightarrow \sigma(B', \alpha, \beta)$ if and only if $s_n \rightarrow \sigma(B, \alpha, \beta + 1)$.

This theorem is due to Borwein [2].

THEOREM 17. $s_n \rightarrow \sigma|B', \alpha, \beta|$ if and only if $s_n \rightarrow \sigma|B, \alpha, \beta + 1|$.

PROOF. (i) NECESSITY. Suppose that $s_n \rightarrow \sigma|B', \alpha, \beta|$. Then we have that

$$A_{\alpha, \beta}(x) = \int_0^x e^{-t} a_{\alpha, \beta}(t) dt = \sigma + o(1) \quad (17.1)$$

$$A_{\alpha, \beta}(x) = \int_0^x e^{-t} a_{\alpha, \beta}(t) dt \in BV_x[0, \infty) \quad (17.2)$$

First, from (17.1) and in view of theorem 16, it follows that

$$S_{\alpha, \beta + 1}(x) = \alpha e^{-x} s_{\alpha, \beta + 1}(x) = \sigma + o(1),$$

that is $s_n \rightarrow \sigma(B, \alpha, \beta + 1)$.

Further, using the argument in theorem 14, we obtain that

$$e^{-x} s_{\alpha, \beta + \delta}(x) \in BV_x[0, \infty)$$

where $\delta = k\alpha$ and k is a positive integer. So, in view of lemma 3(i), it follows that

$$e^{-x} s_{\alpha, \beta + \delta + 1}(x) \in BV_x[0, \infty).$$

Now, for $x > 0$,

$$\begin{aligned} \int_0^x e^{-t} a_{\alpha, \beta}(t) dt \\ = -e^{-x} a_{\alpha, \beta + 1}(x) + \int_0^x e^{-t} a_{\alpha, \beta + 1}(t) dt \end{aligned} \quad (17.3)$$

Also, from (17.2) and in view of lemma 4(ii), it follows that

$$\int_0^x e^{-t} a_{\alpha, \beta + 1}(t) dt \in BV_x[0, \infty),$$

and hence, from (17.2) and (17.3) that

$$e^{-x} a_{\alpha, \beta + 1}(x) \in BV_x[0, \infty).$$

Thus

$$e^{-x}\{s_{\alpha,\beta+1}(x) - s_{\alpha,\beta+\alpha+1}(x)\} \in BV_x[0, \infty),$$

and further, since $\alpha > 0$, in view of lemma 4(i),

$$e^{-x}\{s_{\alpha,\beta+1}(x) - s_{\alpha,\beta+\delta+1}(x)\} \in BV_x[0, \infty)$$

where, as above, $\delta = k\alpha$, k being a positive integer. Hence

$$e^{-x}s_{\alpha,\beta+1}(x) \in BV_x[0, \infty)$$

and so, we obtain that $s_n \rightarrow \sigma[B, \alpha, \beta + 1]$.

(ii) SUFFICIENCY. Suppose that $s_n \rightarrow \sigma[B, \alpha, \beta + 1]$. Then, by theorem 14, $s_n \rightarrow \sigma[B', \alpha, \beta + 1]$ and $a_n \rightarrow 0[B, \alpha, \beta + 1]$, and so, from theorem 1, $s_n \rightarrow \sigma(B', \alpha, \beta + 1)$ and $a_n \rightarrow 0(B, \alpha, \beta + 1)$. Thus, by theorem 16, $s_n \rightarrow \sigma(B, \alpha, \beta)$. Further, we have

$$T_{\alpha,\beta+1}(x) = \alpha e^{-x} a_{\alpha,\beta+1}(x) \in BV_x[0, \infty)$$

and

$$A_{\alpha,\beta+1}(x) = \int_0^x e^{-t} a_{\alpha,\beta+1}(t) dt \in BV_x[0, \infty).$$

From (17.3) and these results, it immediately follows that

$$A_{\alpha,\beta}(x) = \int_0^x e^{-t} a_{\alpha,\beta}(t) dt \in BV_x[0, \infty),$$

and so, we have that $s_n \rightarrow \sigma[B, \alpha, \beta]$. This completes the proof of theorem 17.

THEOREM 18. $s_n \rightarrow \sigma[B', \alpha, \beta]$ if and only if $s_n \rightarrow \sigma[B, \alpha, \beta + 1]$.

PROOF. (i) NECESSITY. Suppose that $s_n \rightarrow \sigma[B', \alpha, \beta]$. From theorem 3, it follows that $s_n \rightarrow \sigma(B', \alpha, \beta)$ and so, from theorem 16, that $s_n \rightarrow \sigma(B, \alpha, \beta + 1)$. Further, from theorem 11, we have

$$\begin{aligned} \int_0^x e^t |A'_{\alpha,\beta}(t)| dt &= \alpha \int_0^x |a_{\alpha,\beta}(t)| dt \\ &= o(e^x). \end{aligned}$$

Thus, in view of lemma 5, we have

$$\int_0^x |a_{\alpha,\beta+1}(t)| dt = o(e^x),$$

and hence

$$\int_0^x |a_{\alpha,\beta+1}(t) - a_{\alpha,\beta}(t)| dt = o(e^x). \tag{18.1}$$

Thus

$$\int_0^x |\{s_{\alpha,\beta+1}(t) - s_{\alpha,\beta}(t)\} - \{s_{\alpha,\beta+\alpha+1}(t) - s_{\alpha,\beta+\alpha}(t)\}| dt = o(e^x),$$

and further, in view of lemma 5, we obtain that

$$\int_0^x |\{s_{\alpha,\beta+1}(t) - s_{\alpha,\beta}(t)\} - \{s_{\alpha,\beta+\delta+1}(t) - s_{\alpha,\beta+\delta}(t)\}| dt = o(e^x)$$

where $\delta = k\alpha$, k being a positive integer.

Also, starting from (18.1) and arguing as in the second part of the proof of theorem 15, we obtain that

$$\int_0^x |s_{\alpha,\beta+\delta+1}(t) - s_{\alpha,\beta+\delta}(t)| dt = o(e^x).$$

Hence

$$\begin{aligned} \alpha \int_0^x |s_{\alpha,\beta+1}(t) - s_{\alpha,\beta}(t)| dt &= \int_0^x e^t |S'_{\alpha,\beta}(t)| dt \\ &= o(e^x), \end{aligned}$$

and so, in view of theorem 11, we obtain that $s_n \rightarrow \sigma[B, \alpha, \beta + 1]$.

(ii) SUFFICIENCY. Suppose that $s_n \rightarrow \sigma[B, \alpha, \beta + 1]$. From theorem 3, it follows that $s_n \rightarrow \sigma(B, \alpha, \beta + 1)$ and so, from theorem 16, that $s_n \rightarrow \sigma(B', \alpha, \beta)$. Further, from theorem 15, we obtain that $s_n \rightarrow \sigma[B', \alpha, \beta + 1]$ and $a_n \rightarrow 0[B, \alpha, \beta + 1]$, and so we have, in view of theorem 11

$$\int_0^x e^t |T_{\alpha, \beta+1}(t)| dt = \alpha \int_0^x |a_{\alpha, \beta+1}(t) - a_{\alpha, \beta}(t)| dt = o(e^x)$$

and

$$\int_0^x e^t |A_{\alpha, \beta+1}(t)| dt = \alpha \int_0^x |a_{\alpha, \beta+1}(t)| dt = o(e^x).$$

It follows immediately that

$$\int_0^x e^t |S'_{\alpha, \beta}(t)| dt = \alpha \int_0^x |a_{\alpha, \beta}(t)| dt = o(e^x),$$

and so, from theorem 11, that $s_n \rightarrow \sigma[B', \alpha, \beta]$.

This completes the proof of theorem 18.

It is interesting to note that the proof of theorem 18 nowhere uses the full strength of the hypothesis $s_n \rightarrow \sigma[B', \alpha, \beta]$. In fact, the weaker hypothesis $s_n \rightarrow \sigma(B', \alpha, \beta)$ will do, for by theorem 14 and lemma 5(a), we can obtain that

$$\int_0^x |s_{\alpha, \beta}(t) - s_{\alpha, \beta-1}(t) - s_{\alpha, \beta+\delta}(t) + s_{\alpha, \beta+\delta-1}(t)| dt = o(e^x)$$

This gives rise to the interesting result:

THEOREM 19. $s_n \rightarrow \sigma[B, \alpha, \beta]$ if and only if $s_n \rightarrow \sigma(B', \alpha, \beta)$ and $a_n \rightarrow 0$ $[B, \alpha, \beta]$.

REFERENCES

- [1] D. BORWEIN, On Borel-type methods of summability, *Mathematika*, 5(1958), 123-133.
- [2] D. BORWEIN, Relations between Borel-type methods of summability, *Journ. London Math. Soc.*, 35(1960), 65-70.
- [3] G. H. HARDY, *Divergent Series*. (Oxford, 1949).
- [4] J. B. TATCHELL, A theorem on Riesz summability, *Journ. London Math. Soc.*, 29(1954), 49-59.

THE UNIVERSITY, NOTTINGHAM,
AND THE UNIVERSITY OF WESTERN ONTARIO.